Name: Three digit division - with remainders (Skill 74)
Three digit division (with remainders)

1) 890+ 2= 11) 994 + 4 =
2) 577+8= 12) 538 + 9 =
3) 921 +9= 13) 297 + 6 =
4) 506 +6= 14) 426 + 5 =
5) 483+ 9= 15) 250 + 8 =
6) 910+ 2= 16) 425 + 8 =
7) 474 +2 = 17) 474 +~ 8 =
8) 923 +6= 18) 186 + 4 =
9) 372+9= 19) 248 + 2 =
10) 191 + 6 = 20) 684 + 8 =

Answers, fold under: Mark your work when you have finished.

1) 44570 6) 45510 11) 2482 16) 53 r1
2) 72r1 7) 237710 12) 59 r7 17) 59r2
3) 102r3 8) 15315 13) 4913 18) 46 r2
4) 84r2 9) 41r3 14) 85r1 19) 124 r0
5) 5316 10) 3115 15) 31r2 20) 85 r4
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